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Grade 7 — 2013-14, Phase lll
Constructed Response Assessment

Digging Ditches Task

A company is using a piece of equipment to dig a ditch. The piece of equipment digs a length of

3 feet every % hour.

a. Find the unit rate for the digging equipment in feet per hour. Show your work.

s

b. Write an equation that describes the relationship between time and the length of the
ditch.

Y

Page 8 GO ON TO THE NEXT PAGE ‘




Grade 7 — 2013-14, Phase lll
Constructed Response Assessment

Digging Ditches Task

C. Explain the meaning of each variable and constant in your equation.

s

To speed up the project, the construction crew adds a second piece of equipment. The table
below represents the length of the ditch with respect to the time since the second piece of

equipment was added.

Time since second piece Length of ditch
of equipment was added (feet)
(hours)
0.5 27
2 54
3 72
d. Delon says that the relationship in the table is proportional because the rate of two

pieces of equipment digging is double the rate of a single piece of equipment digging.

Show Delon that the relationship in the table is not proportional.
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Scoring Guide

The CCSS for Mathematical Content (3 points)

7-RP.AA1 Determines the unit rate for the piece of equipment in feet per hour in ways such
as the following:

. .3 .
- calculating the complex fraction T equivalent to 9 feet per hour; or

3
- indicating that % hour is 20 minutes and scaling up the ratio 3:20 = 9:60 or

9 feet per hour.
(May have minor calculation errors.)
(1 Point)

7-RP.A.2c Writes an equation of the form y = kh where k is the value determined as the unit
rate in part a.
(1 Point)

7-RP.A.2a Shows that the relationship in the table is not proportional in ways such as the
following:
- extending the table to determine the length of the ditch at 0 hours and
finding that it is not O feet;
- showing that the ratio x:y (or y:x) is not constant;
- plotting the points on the coordinate plane and noting that the line does not
cross through the origin; or
- writing the equation y = 18x + 18 (or an equivalent equation) to represent
the data in the table and indicating that the equation is not of the form y =
kx.
(1 Point)
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The CCSS for Mathematical Practice (2 points)

MP2 In the equation y = 91, identifies y as the length of the ditch (in feet), t as the time (in
hours since the equipment began digging), and 9 as the rate at which the piece of
equipment is digging or as the unit rate or rate per hour of the piece of equipment.
May write an incorrect equation, but correctly identifies the variables and constants
in the equation within the context of the problem. May use variables other than y
and t.

(1 Point)
(MP2: Reason abstractly and quantitatively.)

MP6 Algebraic expressions and all calculations are correct; mathematical language and
notation is precise.
(1 Point)
(MP6: Attend to precision.)

TOTAL POINTS 5
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The CCSS for Mathematical Content Addressed In This Task

Analyze proportional relationships and use them to solve real-world and mathematical problems.

7.RP.AA

Compute unit rates associated with ratios of fractions, including ratios of lengths, areas and
other quantities measured in like or different units. For example, if a person walks 1/2 mile in
each 1/4 hour, compute the unit rate as the complex fraction 1/2 / 1/4 miles per hour,
equivalently 2 miles per hour.

7.RP.A.2a

Decide whether two quantities are in a proportional relationship, e.g., by testing for
equivalent ratios in a table or graphing on a coordinate plane and observing whether the
graph is a straight line through the origin.

7.RP.A.2c

Represent proportional relationships by equations. For example, if total cost t is proportional
to the number n of items purchased at a constant price p, the relationship between the total
cost and the number of items can be expressed as t = pn.

The CCSS for Mathematical Practice*

2.  Reason abstractly and quantitatively.

6. Attend to precision.

* Gray type indicates Mathematical Practices not addressed in this assessment.
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Grade 7 — 2013-14, Phase lll, Stage 2 Pilot
Constructed Response Assessment -

Digging a Ditch Task .

A company is using a piece of equipment to dig a ditch, The piece of equipmént digs a léngth of
3 feet every % hour.

{

a. Find the unit rate for the digging equipment’in feet per hour. Show your work.

2« {;ﬁ L P ad! (’; .

b. Write an équation that describes the relationship between time and the length of the ditch.
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Grade 7 — 2013-14, Phase lll, Stage 2 Pilot
~ Constructed Response Assessment

, Diggirig a Ditch Task

C.

Explain the meaning of each variable and constant in

in your equation.

" To speed up the project, the construction crew adds a second piece of equipment. The table below

represents the length of the ditch with respect to the time since the second piece of equipment was

added.
Time since second piece .
of equipment was added Leng(t?eggdltch
(hours) ,
0.5 27
2 54
3 72
d. Delon says that the relationship in the table is proportional because the rate of two pieces of

equipment digging is double the rate of a singie piece of equipment digging. Show Delon -
that the relationship in the table is not proportional.
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Anchor 1 Litho 00827200163

Total Content Points: 3 (7RP.A.1,7RP.A2c,7RP.A2a)
Total Practice Points: 2 (MP2, MP6)
. . 9 feet .
In Part A, the student determines the unit rate lh by multiplying
our

3 feet 60 minutes

- X and simplifying (7.RP.A.1). In Part B, the student writes an
20 minutes 1 hour

equation of the form y = kh + b, where £ is the value determined as the unit rate in Part A
and b is zero (f = 9h + 0) (7.RP.A .2¢c). In Part D, the student shows that the relationship
in the table is not proportional by using cross multiplication to show that the ratio x:y is
not constant (7.RP.A .2a). In Part C, the student correctly identifies all of the variables
and constants in the equation given in Part B, including the correct units for length and
time. The correct unit for rate is given in Part A, while O would be the correct starting
point, no matter what units of length the student uses (MP2). Algebraic expressions and
all calculations are correct; mathematical language and notation are precise (MP6).

Total Awarded Points: 5 out of 5
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Secure Material: Do Not Copy! ! 2 a

Grade 7 — 2013-14, Phase lll, Stage 2 Pilot
-Constructed Response Assessment.

Digging a Ditch Task |
A company is usmg a piece of eqmpment to dlg a dltch The piece of eqmpment digs a length of

'3 feet every -5 hour

a. : Find the.'unit rate for the digging equipmeht in feef per hour, Show your work. _

V:': hou( ‘“G o
: -'bX o
L
b.  Write an equation that describes the relationship between time and the length of the ditch.
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Grade 7 — 201314, Phase lIi, Stage 2 Pilot
- Cons‘_c_ructed Response As_sessment

Digging a Ditch Task

c. Exblain the 'rnééning of each variable and constant in your eQuatioh '

A Q q\ﬂ jr\uxw\bﬂ’-( Oy(

4‘0*0&\ Qe:‘ I
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To épeed up the project, thébonstruzc.:tion crew adds a second pi’ecé of equipment. : The table below
represents the Iength of the ditch wnth respect to the tlme smce the second piece of equ:pment was

~added. . -
S _‘Ijme s.ipc_e second piece Length of ditch
J .| of equipment was added ‘ (feet)
' (hours) - :
05 N
2 54
3 _ 72

Delon says that the relatlonshtp in the table is proportional because the rate of two pieces of'
“equipment digging is double the rate of a single piece of equipment digglng Show Delon. -
that the reiatlonshsp in the table is not proportlona!
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Anchor 2 Litho 00417200163
Total Content Points: 3 (7RP.A.1,7RP.A2c,7RP.A2a)
Total Practice Points: 1 (MP2)

In Part A, the student determines the unit rate (“9 feet per hour”) by setting up an
equation and solving for x (7.RP.A.1). In Part B, the student writes an equation of the
form y = kh, where k is the value determined as the unit rate in Part A (f = 9h)

(7.RP.A 2¢). In Part D, the student shows that the relationship in the table is not
proportional by using cross multiplication to show that the ratio x:y is not constant. Minor
transcription errors do not affect the student’s understanding of how to demonstrate
proportionality (7.RP.A.2a). In Part C, the student correctly identifies all of the variables
and constants in the equation given in Part B, including the correct units for length, rate,
and time (MP2). The student makes some transcription errors in Part D (57 instead of 54,
75 instead of 72) and uses imprecise mathematical language in Part D (“The table is not
equal”), demonstrating a lack of precision (no credit for MP6).

Total Awarded Points: 4 out of 5
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Grade 7 — 2013-14, Phase lll, Stage 2 Pilot- o 1
Constructed Response Assessment

Digging a Ditch Task

- A company is- usmg a piece of equupment to dlg a dltch The piece of eqmpment digs a Iength of

- 3 feet every -% hour,

a. Find the unit rate for the digging equipment in feet pér hour. Show your work.

& %H 5
Wiy

\mu\’rlp“.ﬁ “ng
\oe,mm% -’U’“ﬂ

| b. Write an equation that describes the relationship between time and the length of'thé ditch.

— 5. -
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Grade 7.— 201314, Phase Ili, Stage 2 Pllot -
" Constructed Response Assessment

cigging a Ditch Task

c. Explaln the meanmg of each variable and constant in your equation. . |

el X = haw wdny Yiours ~ou orie
ond \1 ~nowm any JE%*r

\5%& e, mlvge U 0(A9

\ our.-

To speed up the project, the construction crew adds a second piece of equipment. The table below
represents the length of the ditch with respect to the time since the second plece of eqmpment was -
added. : :

Time since second piece Length of ditch
of equipment was added (feot)
(hoursy o
05. .27
2 54
d - De!on says that the relationship in the table is propcrtlonal because the rate of two pleces of

equipment digging is double the rate of a single piece of equipment digglng Show Delon
that the relatlonshlp in the table is not proportionat.

= ’2_'7 S4 feax ‘75‘4( Q@* f)*;w#
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Anchor 3 Litho 00867200163
Total Content Points: 2 (7.RP.A2c,7.RP.A.2a)
Total Practice Points: 2 (MP2, MP6)

In Part A, the student miscalculates the number of minutes in an hour, and consequently
does not find the correct unit rate (no credit for 7.RP.A.1). In Part B, the student writes an
equation of the form y = kh, where k is the value determined as the unit rate in Part A

(?x = yj (7.RP.A2c). In Part D, the student shows that the relationship in the table is

not proportional by showing that the ratio y:x is not constant (7.RP.A.2a). In Part C, the
student correctly identifies all of the variables and constants in the equation given in

Part B, including the correct units for length, rate, and time (MP2). Algebraic expressions
and all calculations are correct; mathematical language and notation are precise (MP6).

Total Awarded Points: 4 out of 5
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Grade 7 — 201314, Phase 1ll, Stage 2 Pilot
Constructed Response Assessment

-Digging a Ditch Task

A company is usmg a piece of eqmpment to d[g a dttch The piece of eqmpment dlgs a Iength of

a.

'3 feet avery E hour

Find the unit rate for the digging equipment in feet per hour. Show your work.

— s = oD
Sy?.(_— % @905??0
"9_.(-) 0 Ao

Write an equation that descfi_bes the reiationshib between time and the length of the__ditchr.

e | B OO
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Grade 7 — 201314, Phase ill, Stage 2 Pilot.
' _Constructed Response Assessment

Dlggmg a Dltch Task

c: Explam the meaning of each vanable and constant in your equatton

To speed up the prbjedt the construction crew adds a second piece' of eqﬁipment The fable below
represents the length of the ditch with respect to the time since the second plece of equment was

added
. Time since second piece | - o -
of equipment was added Lenggle;‘)dnch
(hours)
05 27
2 54
3 79
d.

Delon says that the relatlonsh[p in the table is proportlona] because the rate of two pieces of
equipment digging is double the rate of a single piece of equment digging. Show Delon
that the refationship in the table is not proportional.

& Lf'ﬁ Cgﬂaw
' C mared
32
not eopod
9!10@@5

13 and 0 ore
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Anchor 4 Litho 00687200163
Total Content Points: 2 (7.RP.A.1,7RP.A2c)
Total Practice Points: 1 (MP6)

In Part A, the student determines the unit rate (“9 feet per hour”) by setting up a series of
. o . 1
equations and solving first for the number of minutes in 3 of an hour and then for the

number of feet per hour (7.RP.A.1). In Part B, the student writes an equation of the form
y = kh + b, where k is the value determined as the unit rate in Part A and b is zero

(y =9x + 0) (7.RP.A 2¢). In Part D, the student does not show that the relationship in the
table is not proportional. Instead, the student calculates the slope of the data from 2 hours
to 3 hours in the table, and indicates that the slope is not equal to the rate already
calculated in Part A, which has only one piece of equipment digging (no credit

for 7.RP.A.2a). In Part C, the student correctly identifies most of the variables and
constants in the equation given in Part B, including the correct units for length and time.
The correct unit for rate is given in Part A. However, by specifying that O refers to the
“starting time,” the student makes the equation invalid because the resulting process of
adding feet to hours or minutes would not be correct for finding the total number of feet
dug (no credit for MP2). Algebraic expressions and all calculations are correct;
mathematical language and notation are precise (MP6).

Total Awarded Points: 3 out of 5
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Grade 7 — 201314, Phase Ili, Stage 2 Pilot
Constructed Response Assessment -
Digging a Ditch Task
Avcompany is using a piece of equipment to dig é’ditch. The piece of equipmént digs a Iéngth of
3 feet every ?13- hour.

{

a. Find the unit rate for the digging ‘equipmeht‘in feet per hour. Show your work.

= C i';? \
1 e | oy

b. : Write an eguation that describes the relationship between time and the length of the ditch.
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Grade 7 — 2013-14, Phase Iil, Stage 2 Pilot
- Constructed Response Assessment
,Diggihg a Ditch Tésk

C.

To speed Up the project, the construction crew adds a second piece 6f“'equi‘pmént The table below
represents the length of the ditch with respect fo the time since the second piece of equipment was
added. ;

Time since second piece Len gih of ditch
of equipment was added (feet)
. (hours) ’ o /
0.5 27
2 54
3 72

Delon says that the relationéhip in the table is proportional because the rate of two pieces of

equipment digging is double the rate of a single piece of equipment digging. Show Delon -
that the relationship in the table is not proportional.

Page 19 of 38 Litho#: 00387200163




Anchor 5 Litho 00387200163
Total Content Points: 2 (7.RP.A.1,7RP.A2c)
Total Practice Points: 1 (MP2)

In Part A, the student determines the approximate unit rate (9.09 feet per hour) by
dividing 3 by .33 (7.RP.A.1). In Part B, the student writes an equation of the form y = kh,
where k is a correct rate based on the definition of the variables in Part C (y = 3x)
(7.RP.A 2¢). In Part D, the student does not show that the relationship in the table is not
proportional. Multiplying each time, x, by its corresponding length, y, is not a correct
method to determine proportionality (no credit for 7.RP.A.2a). In Part C, the student
correctly identifies all of the variables and constants in the equation given in Part B,
including the correct units for length, rate, and time (MP2). The student uses imprecise
mathematical language in Part D (“Their not the same”), demonstrating a lack of
precision (no credit for MP6).

Total Awarded Points: 3 out of 5
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Grade 7 — 2013-14, Phase I1l, Stage 2 Pllot
Constructed Response Assessment

Digging a bitch Task
A company IS usmg a piece of equnpment fo d:g a dltch The piece of equspment drgs a iength of

3 feet every 5 hour.

a. Find the I_Jnit rate for the digging c__aquipment in _féet per hourt.__'_Show your work.

=

1

3 nc%'l'a &‘3 «{’0 M&m}ﬁ? e
. ,,,faH_ -
T

b. Write an equation that describes the relationship between time and the length of the ditch.
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~ Grade 7 — 201314, Phase Ill, Stage 2 Pilot
Constructed Response Assessment

Dlggmg a Ditch Task .

c. Explam the meanmg of each vanable and constant in your equation.

fee bt Aunt % Jaé’w%s
% 0
Sy or
e ot fed

fhé:;;maw} ot fhy dr%fﬁ

To speed up the pI‘OjECt the constructlon crew adds a second piece of equlpment The table below
represents the length of the ditch with respect to the time since the second piece of equipment was

added.
- Time since second piece "'ﬁl-_eagth of ditch |
of equipment was added (feet)
(hours) _
2 ' 54
3 |72
d. Delon says that the relationship in the table is proportionat because the rate of two pieces of

- -equipment digging. is double the rate of a single piece of eqmpment dlggmg Show Delon
© that the relationshlp in the table is not proportlonal

=

05 moans % or te 4“4@ .

VoVuke ahote 0.5 0.5 whoh =1

i"m 27420 = SU fle Sarme Ifrym Q# ’*Lt;&v‘,:
M E T hen sl by 105

=
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Anchor 6 Litho 00597200163
Total Content Points: 3 (7RP.A.1,7RP.A2c,7RP.A2a)
Total Practice Points: 0

In Part A, the student determines the unit rate (“9 feet per hour”) by setting up the

complex fraction %and by scaling up the ratio (7.RP.A.1). In Part B, the student writes
)
an equation of the form y = kh, where k is the value determined as the unit rate in Part A
(v = 9x) (7.RP.A.2c). In Part D, the student shows that the relationship in the table is not
proportional by scaling the first relationship in the table to show that it is not equivalent
to the other two (7.RP.A 2a). In Part C, the student identifies all of the variables and
constants in the equation given in Part B, but fails to provide units for length or time. In
addition, the student makes an error in conceptualizing the problem situation, stating that
y refers to the vertical depth rather than the horizontal length (no credit for MP2). The
student uses imprecise mathematical language in Part D (“So 27 + 27 = 54 the same
length at 2 hours and 54 + 54 = 108 which should be 2 hours and 3 should be 1627),
demonstrating a lack of precision (no credit for MP6).

Total Awarded Points: 3 out of 5
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‘Grade 7 — 201314, Phase lll, Stage 2 Pilot
Constructed Response Assessment =
Digging a Ditch Task
A company is usmg a piece of equupment to dlg a d|tch The plece of equnpment dlgs a Iength of

3 feet every % hour

a. Find the__unit rate for the digging equipment in feet per hour. Show your work.

b. . Write an equation that_' describes the relationship between time éhd the IengthA of the ditch.

2
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‘Grade 7 — 2013-14, Phase Ili, Stage 2 Pllot
' Constructed Response Assessment

'.j Digging a Ditch Task

C. Explain the meanieg of eech variable and constant in yeur eqeatien.__
[ 3"‘% "
ek te Se
Rlery g\rew 'H'a machrﬂe digs

= | ~g§4£}-¢3@u§\¢f%:jﬁﬁﬁi GWjL‘5“ gzyaﬁﬁaﬂ{ _ 
o aofd

" To speed up the project, the construction crew adds a second piece of 'equiprhem' The table below
represents the length of the ditch With respectto the time since the second piece of eqmpment was

- added o |
B " Time since second piece )
of equipment was added Leng(t?e::)d't‘:h
“(hours) - _ o
05 . - | 27
2 54
. R )
o Delon says that the relationship in the table is proportional because the rate of two pieces of

-equipment digging is double the rate of a single piece of eqmpment digging. Show Delon
_ that the relatlonsh|p in the table is not proportional.

-~ --cosmczx,smm;

p 2 .

'arOfJ
W}tc«\s et ro&c ehoﬂges (,\Jen}
Hoee i c\p\i‘brﬁ 90 0\']'0& Com';-ir&
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Anchor 7 Litho 00187200163
Total Content Points: 1 (7TRP.A.1)
Total Practice Points: 1 (MP2)

In Part A, the student determines the unit rate (9) by setting up an equation and solving
for r (7.RP.A.1). While the student’s equation in Part B is correct for the specific
situation described in the problem, it does not describe the general relationship between
time and the length of the ditch (no credit for 7.RP.A .2c). In Part D, the student does not
show that the relationship in the table is not proportional, since calculating the slope is
not sufficient to determine proportionality (no credit for 7.RP.A.2a). In Part C, the
student correctly identifies all of the constants in the equation given in Part B, including
the correct units for length and time (MP2). The student uses imprecise mathematical
notation in Parts A and D, using a running equation in Part A and omitting an equal sign
in Part D, which demonstrate a lack of precision (no credit for MP6).

Total Awarded Points: 2 out of 5
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~.Grade 7 — 201314, Phase lll, Stage 2 Pllot
" Constructed Response Assessment

Diggmg a Ditch Tasl(

A company is. usmg a piece of equnpment to dig a ditch. The piece of equment digs a length of

3 feet every § hour,

a. . Find the unit rate for the digging equipment in feetpe_i‘ hour, Show.your work,

S (s pec nouy

b.  Write an equation that describes the relationship between time and the length of the ditch.

Litho#: 00737200163
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Grade 7 — 201314, Phase Ili, Stage 2 Pilot -

Constructed Response Assessment
.I'.'Jig'ging a Di'tch Task |

C.. Explain the meanlng of each varlable and constant in your equat:on |

A-8b

& (3/ /\\ ‘\ﬂumbexof
/@’Hz arouwn ¥ of \000\(3

- Pec N Cx.mr

Pl (ro¥e) *

.To speed up the ptoj'ect the construction crew adds a second piece of equipment The table below .
represents the Iength of the dltch w;th respect to the t:me since the second plece of equment was

added.
Time s’_ince second piece Length of ditch
. of equipment was added (fest) .
' (hours) o
05 27
2 - .54 :
3 72

d.

Delon says that the reiat:onshlp in the tabie is proportlonal because the rate of fwo pieces of

equipment digging is double the rate of a single piece of eqmpment dtgging Show Delon

that the relatlonshlp in the table is not proportional.

o HOX.
S/

A\ This vey PG(’\'\G\(\O\\
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Anchor 8 Litho 00737200163
Total Content Points: 1 (7RP.A2¢)
Total Practice Points: O

In Part A, the student determines the correct unit rate (9 ft per hour), but the work shown
(3 x 3) is not sufficient for credit because it is unclear where the numbers the student uses
came from (no credit for 7.RP.A.1). In Part B, the student writes an equation of the form
y = kh, where k is the value determined as the unit rate in Part A (y = 9x) (7.RP.A.2¢c). In
Part D, the student does not show that the relationship in the table is not proportional.
Instead, the student calculates what the rate should be for the first data point in the table,
assuming that both diggers begin at the same time, and indicates that the table is not
proportional with the already calculated rate from Part A (no credit for 7.RP.A .2a). In
Part C, the student identifies all of the variables and constants in the equation given in
Part B, including the correct unit for time, but fails to provide a unit for length for y

(no credit for MP2). The student uses incorrect mathematical language in Part D (“a rate
of 9x,” “a rate of 45x”"), demonstrating a lack of precision (no credit for MP6).

Total Awarded Points: 1 out of 5
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" "Grade 7 — 2013-14, Phase llI, Stage 2 Pllot
' Constructed Response Assessment

Diggi_ng a Ditch Task. .

A company is usmg a plece of equtpment to dlg a ditch. The plece of eqmpment dlgs a Iength of

3 feet every 5 hour.

a. - Fmd the unit rate for the digglng equipment in feet per hour. Show.your work.

b. Write an equation that describes the relationship between time and the length of the ditch.

Ry

y:“lx ; g

Litho#: 00617200163

Page 30 of 38




oo

- Page 31 of 38

Secufe Material: Do Not Copy!

- Grade 7 — 2013—14, Phése i, Stage'..’z Pilot
Constructed Response Assessment

Digging a Ditch Task

c. | Explain the meaning of each variable and coriétant in your e"qu'ati'on..

\e\gah

& #_ﬁx’v *\‘ih\e Ehkom‘rs

To speed up the project, the construction crew adds a second piece of equipment. The table below
represents the length of the ditch with respect to the time since the second piece of equrpment was

added.
~ Time since second piece | | . gth of ditch
of equipment was added (Feet)
(hours)
. 0.5 27
2 54
'3 ST

Delon says that the relationship in the table is proportionai because the rate of two pieces of

equipment digging is double the rate of a single piece of eqmpment digging. Show Delon
that the relatlonship in the table is not proportxonal

=

Litho#: 00617200163
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Anchor 9 Litho 00617200163
Total Content Points: 1 (7RP.A2¢)
Total Practice Points: O

In Part A, the student determines the correct unit rate (9 ft per hour), but the work shown

(60 X % = 20j is not sufficient for credit because it does not demonstrate how the student

arrived at this conclusion (no credit for 7.RP.A.1). In Part B, the student writes an
equation of the form y = kh, where £ is the value determined as the unit rate in Part A

(y = 9x) (7.RP.A.2c). In Part D, the student does not show that the relationship in the
table is not proportional (no credit for 7.RP.A.2a). In Part C, the student identifies all of
the variables and constants in the equation given in Part B, including the correct unit for
time, but fails to provide a unit for length (no credit for MP2). While the student makes
no errors in calculation, language, or notation, there is insufficient work shown to
demonstrate precision (no credit for MP6).

Total Awarded Points: 1 out of 5
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~ Grade 7 — 201314, Phase lll, Stage 2 Pilot
Constructed Response Asse§sment

" Digging a Ditéh Task
A company IS usmg a piece of equment to dlg a ditch. The plece of equnpment d[gs a Iength of :
- 3feet every — hour - : '
o a Fiﬁd fhé unit rate for the digging equipment in feet per hbu’r. Show you_ﬁ work,
\Jf '\N\\\ | Q\OS °\ lmfee‘r

b, Wirite an equation that describes the relationship between time ‘and the length of the ditch.

7 & \‘: \‘%X“r%
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‘Grade 7 — 2013-14, Phase Ill, Stage 2 Pilot
Constructed Response Assessment

~ Digging a Difch Task

c. - Expla[n the meaning of each variable and constant in your equatlon

A-l()b

& \{ \l%x +%
N V\\\(\E(C
oo axme@

Te Wiy

To speed up the project, the constructlon crew adds a second plece of equipment. The table below
‘represents the length of the ditch with respect to the time since the: second piece of equ1pment was

added. | _
Time since second piece N -
of equipment was added Le“Q(tfhegI)_d_ltch 1.
(hours) |
8.5 21
2 54,
3 72
d.

that the relat:onship in the table is not proportlonal

Delon eéys that the relationship in the table is propertlonal because the rate of two pieces of
- equipment digging is double the rate of a single piece of eqmpment dlggmg Show Delon

@\ 6’5{) %%‘li
- S\J
-0 "T"

7
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Anchor 10 Litho 00097200163
Total Content Points: 0
Total Practice Points: 1 (MP6)

In Part A, the student does not determine the correct unit rate and shows no work
(no credit for 7.RP.A.1). In Part B, the student writes an equation of the form y = kh + b;
but k is not the value determined as the unit rate in Part A, and b is not zero

(y = %x + 3) (no credit for 7.RP.A.2¢). In Part D, the student does not show that the

relationship in the table is not proportional. Calculating the slope is not sufficient to
determine proportionality (no credit for 7.RP.A.2a). In Part C, the student incorrectly
identifies 3 as “where it started digging” and fails to define y or x (no credit for MP2).
Algebraic expressions and all calculations are correct; mathematical language and
notation are precise. In addition, there is sufficient work to demonstrate precision (MP6).

Total Awarded Points: 1 out of 5
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Grade 7 — 2013—14.,' Phase Hi, Stagé 2 Pilot
Constructed Response Assessment

Digging a Ditch Task
A company is us’ing:-_a piece of equipment to dig _aditch., The 'pi‘.e't:'e of equipment digs a length of

3 feet every % hour.

‘a. - Findthe it rate for the di.gging equipment in fest per _h_c_)ur. Show your. work
S5 Feot QoYY - .houy: .
160 wmindes n 4 hour

_\% xj 0= 20 win. pev Z, Leol

ST fewkopev hewr |

b. - Write an equation that des_cribes the relatid’nshi'p betweeh time and the length of the di_tch.

Y \l = X vO

itho#: 00777200163. .
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 Digging a Ditch Task |

. C

- To speed up the pro;ect the construction crew adds a second plece of equlpment The table below
¢ represents the length of the dltch with respect to the time since the second plece of equipment was.

added.

;:4erkﬂl

Secure Materlal Do Not Copy' ! 1 1 b

Grade 7 — 2013~14, Phase lll, Stage 2 Pilot
Constructed Response Assessment

.. Explain the meaning of.each variable ant__:l co_n_sfant in your equation_.'

oN= i K\J"O‘\ S’rm’vmg
Gat YO(J[QJ : )\'\\V\Q/ ()\UL(B
Oluw() a¢ Chronyue

in feer

Time since second piece Length of ditch
of equipment was added (féét) .
(hours) ~
05 - 27
2 54
3 - 72

Delon says that the relénonshlp in the table is proportional because the rate of two pieces of

.. -equipment digging is double the rate of a single piece of equlpment digging. Show Delon::

that the relationship in the table | is not proportional.

&T\(\OJ\\ dowx Ol Qo
p 0w sime rem
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Anchor 11 Litho 00777200163
Total Content Points: 0
Total Practice Points: 0

In Part A, the student does not determine the correct unit rate, and the work shown is
insufficient (no credit for 7.RP.A.1). In Part B, the student writes an equation of the form
y = kh + b, where b is zero, but & is neither the value determined as the unit rate in Part A
nor correctly defined in Part C (y = 3x + 0) (no credit for 7.RP.A .2¢). In Part D, the
student does not show that the relationship in the table is not proportional. “They don’t all
go up at the same rate” is not specific enough for credit (no credit for 7.RP.A.2a). In

Part C, the student identifies all of the variables and constants in the equation given in
Part B, including the correct unit for length, but fails to provide a unit for time (no credit
for MP2). The student uses imprecise mathematical language in Part D (They don’t all go
up at the same rate), demonstrating a lack of precision (no credit for MP6).

Total Awarded Points: O out of 5
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